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F9IVyya § vAv7)- N € --1.59kg ¥4,300 ¥4,700
FIIyya § UAv7)= N --2.72kg ¥6,280 ¥7,400
197Vyya 7 bAv7Y= N & ~-5.44kg ¥11,500 ¥13,500
T7byva [B5RIBRGE M) 7 L4v7)- N € - b.44kg Hayyaft & ¥11,500 ¥13,500
FIIVyya J uAv7)=- N £ --9.98kg ¥19,800 ¥22,500
F9IVyya 7 vAv7)- TX hb-1.59kg ¥4,300 ¥4,700
Fo7Vyya y UAY7)- TH Wh-2.72kg ¥6,280 ¥7,400
970y 7 A7 - TR Wwh-5.44kg ¥11,500 ¥13,500
Fo7vyya VESRIERTESR] 7 W4V7Y- 74 Wb 5.44kg Hayvaft & ¥11,500 ¥13,500
FIIVyya 7 v Av7)- TX hb-9.98kg ¥19,800 ¥22,500
T97vyva [FRIBRFESR) 7 L4v7YU= 74 Wb 9.98kg #ayyaft = ¥19,800 ¥22,500
F97Vvyya 7 VA7)~ 7499274 hb-1.59kg ¥4,300 ¥4,700
F97Vyya 9 VAT = T49aTH Wb-2.72kg ¥6,280 ¥7,400
F970yya 9 UAY7= 749274 Wb-9.98kg ¥19,800 ¥22,500
970y [RFRIERFER] 7 WAV 7U= 74992 T Wh-9.98kg #ayyafd & ¥19,800 ¥22,500
FIIVyya J A7) Y=T&D2A Y A7 b-1.59kg ¥4,300 ¥4,700
FoTbyva ) A7) = vZT&IAMEY Fvh-2.72kg ¥6,280 ¥7,400
FIIVyya J VA7) Y7 &4 RY AV b-5.44kg ¥11,500 ¥13,500
T7byva [BRIBRGESR) 7 WAV7Y= Y27 &91A ety Avb-5.44kg ayyaft = ¥11,500 ¥13,500
T97byva I bAY7)= Y27 &4 MAY #74-9.98kg ¥19,800 ¥22,500
Fo7vyya VERIERTESA] 7 WAV7Y=- Y27 &I/ Mvay #70-9.98kg #ayyaft & ¥19,800 ¥22,500
F97byya 4 L4v7)- 2807 Y- N £ —-800g ¥2,250 ¥2,480
F97byva 7 bAv7Y= 2807 )=k N b --1.59kg ¥4,400 ¥4,800
t7byva [B5RIBRGESR]) 7 L4v7)- SB v & —-1.59kg #ayvaff & ¥4,400 ¥4,800
F9Iyya 5 VA7) R8T Y- N b --2.72kg ¥6,980 ¥7,800
972 UERIERTESR] 7 WAY7Y= 28-07 -8 N & —-2.72kg #ayyaft & ¥6,980 ¥7,800
F97Vyy1 7 L4y7)- 2807 )-8 Nt --9.98kg ¥21,800 ¥24,800
F97byva 7 U4y 7)- ZE-N7 Y-k 75 vp-800g ¥2,250 ¥2,480
F97byya 4 VA7) 2807 U-K 74 Mh-1.59kg ¥4,400 ¥4,800
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19702 4 LAy 7)- 2807 U-K 74 Mh-1.59kg ¥4,400 ¥4,800
F97vyya [RFRIERTESR] 7 L4Y7Y- SB 74 Wh-1.59kg #ayvaft & ¥4,400 ¥4,800
F97Lyya 7 Ay RE-7 )-8 TE Wb-2.72kg ¥6,980 ¥7,800
T97Vyya J A7) = 2807 )-8 TR Wh-2.72kg ¥6,980 ¥7,800
F97vyya [EFRIERGESR] 7 L4Y7Y- SB 74 Wh-2.72kg #ayvaft = ¥6,980 ¥7,800
F97byya 4 L4v7)- 2807 Y-F 74 Wh-9.98kg ¥21,800 ¥24,800
F97VyYa 7 VA7) 227 )-8 7497274 vh-800g ¥2,250 ¥2,480
F97Vyva 7 Ay 7= 2807 )-8 749274 Wh-1.59kg ¥4,400 ¥4,800
Fo7byva [45BIERFER]) 7 b4Y7YU= SB 74yvaT4 Wwh-1.59kg #ayyaff & ¥4,400 ¥4,800
FIIVyya § VAT AT U=F T4yaTR Mh-9.98kg ¥21,800 ¥24,800
T97Vyya 7 bAY 7= 2207 )-8 YZ7&V14 Ay Avb-800g ¥2,250 ¥2,480
F97Vyya 9 VAT = RE-NT U=F YZ7&UzAMEY AV b-1.59kg ¥4,400 ¥4,800
Fo7byva [45BIERFER] 7 bAY7Y=- SB Y27 &9xA ety Ab-1.59kg #ayvafdd  ¥4,400 ¥4,800
F97Vyya I AY7)= A=W U= YZT&DAMNAY AVb-2.72kg ¥6,980 ¥7,800
T7byva [B5RUBRGESR) 7 WMV7Y= SB Y=7 &It/ MAy Av4-2.72kg #ayvaft]  ¥6,980 ¥7,800
T2 7 AV = 2207 )=k YZT&IzA ety AvE-9.98kg ¥21,800 ¥24,800
FI7Vyya 7 147~ $+v-350g ¥1,250 ¥1,350
FI7Vyya 7 UAv7)- $hv-1.36kg ¥4,150 ¥4,800
T7byva [85RUBRGE&R]) 7 L4v7)- %by 1.36kg Hayvaft & ¥4,150 ¥4,800
T97byva 7 bAv7)- ¥+/-3.63kg ¥9,980 ¥11,500
Fo7byva (45BIERFEM] 7 b4Y7Y- £b7 3.63kg #ayvaff & ¥9,980 ¥11,500
FIIVyya i LA 7= $4v-7.25kg ¥18,500 ¥21,000
T97Vyya 7 L4y7)=TH WbEryt-350g ¥1,250 ¥1,350
F97VyYa 7 UAv7)= TR ey b-1.36kg ¥4,150 ¥4,800
F97byya 9 UAY7)= T4 WhEeyb-1.36kg ¥4,150 ¥4,800
F97vyya URFRIERTESR] 77 LAY7Y= 74 Wb Foyb-1.36kg $ayyaft & ¥4,150 ¥4,800
7Ly 7 b4y 7= T Whry b-3.63kg ¥9,980 ¥11,500
T970vyya [BFRIARTEG] 7 LAV7YU=- T4 Wb vy b-3.63kg #ayvafT & ¥9,980 ¥11,500
F97Vyya 9 UAY7)= T4 Whdvyb-7.25kg ¥18,500 ¥21,000
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Fo7byya [B5RIERGEMR] 7 WAY7Y= T4 Wb ¥ryb-7.25kg Hayyaff & ¥18,500 ¥21,000
FI7Vya I LAY 7)= T4yvaT4 Wby b-350g ¥1,250 ¥1,350
F97VyYa 7 VA7 Y= T49YaTH hhkvyb-1.36kg ¥4,150 ¥4,800
Fo7byva [4EBIERTER] 7 WAY7Y= 749yva TR Wby b-1.36kg $ayvaft & ¥4,150 ¥4,800
FI7Vya I VA7 = T4yvaT4 Wiy b-3.63kg ¥9,980 ¥11,500
Fo7byya (4FBIERFER] 7 VAY7Y= 749y T Wby b-3.63kg Hayvafd & ¥9,980 ¥11,500
F9IVya I VA7 = 7499274 Wiy b-T.25kg ¥18,500 ¥21,000
FI7Vyya 7 UAv7)= 2Ty b4 bR AV b-350g ¥1,250 ¥1,350
FI7Vyya I A7) = y=T ey b4 bR 4vb-1.36kg ¥4,150 ¥4,800
Fo7byva [FRIERFER] 7 WAY7Y= Y=T7%ey b &924 by Avb-1.36kg #avvaff|  ¥4,150 ¥4,800
FoIVyya 7 U7 - 2Ty &I 1A bR AV b-3.63kg ¥9,980 ¥11,500
Fo7byyva [RIERGEMAR] 7 W AY7U= v=T8ey b &924 b2y AV h-3.63kg Havvaf|  ¥9,980 ¥11,500
FIIVyya I A7 = y=T ey b4 bR AV b-T.25kg ¥18,500 ¥21,000




